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20 men or 24 women can complete a piece of
work in 20 days. If 30 men and 112 women
under take to complete the work, the work
will be completed in:

20 &8 1 24 HigwTd T o i 20 femii § THre ot wehd
&, 20 qeu o 12 Toat o 6, @ v R e | T
HA?

40
(A) Y days (B) 42 days

(C) 45 days (D) 46 days
If 10 men or 20 boys can make 260 mats in 20

days, then how many mats will be made by 8
men and 4 boys in 20 days ?

7fg 10 729 a1 20 TgF 20 Al § 260 =Rl 5 T
%18 779 921 4 Tk 20 TeHAl # et wrersat sAm ?
(A) 260 (B) 240

(C) 280 (D) 520

If 7 men or 10 women can make a 100 meters
wall in 10 days, in how many days 14 men
and 20 women can make a 600 m wall?

7 STEHT 37T 10 S7Rd, 100 Hier ot gar 10 fag #
I E, 14 STEH 1 20 TR e 600 Hex Tt SR
Tora fem & sme—

(A) 12 days/ f&a (B) 10 days/ fea

(C) 18 days/ & (D) 15 days/ f&a

If 1 man or 2 women or 3 boys can complete a

piece of work in 88 days, then 1 man 1 women
and 1 boy together will complete it in

7fg 1 geu =1 2 forai =1 3 Tk et v 3 88 fm i | e
T €, Al T oY, Tk T 901 Tk ASH! THerwL T HH
%! fora fel § e &8 ?

(A) 36 days (B) 42 days

(C) 48 days (D) 54 days

If 40 men or 60 women or 80 children can do
a piece of work in 6 months, then 10 men, 10

women and 10 children together do half of the
work in how may months?

=& 40 2% =1 60 AT =1 80 =4 fheft & &l 6 TEH
T FH Y TR B, @ 10 IRW, 10 A qen 10 s
TooTaRT 38 T 1 foha TE A1 H TAT R 2

6
(®) 55 (B) 6

7 1
© 573 D) 1153

4 man or 6 woman or 10 children can paint a
house in 5 days. The painting work is given to
a married couple and their 5 sons. In how

many days they will complete the work ?

4 Y 11 6 HiEETT 379/ 10 =3 Teh =1 5 fa & He
HLHHA T | U2 HH 1 HE T afq-acit ST 5 92 Bl
fean T ® 19 39w T fRde T qu i ?

6 5

(4) 547 (B) 57
56 52

© 7 D) 37

28 men can complete a piece of work in 15
days and 15 women can complete the same
piece of work in 24 days. What is the respec-
tive ratio between the amount of work done
by 30 men in 1 day and the amount of work
done by 18 women in 1 day?

28 &Y TRt M 1 15 fe7 § 9 gd § w15 Afgeng
SH M A 24 fo7 H TR € 1 30 Toi g 1 oA H v
18 wfganst g1 1 e # ffw @ ™ & wea e

ST EXT 2
(A) 10 : 7 (B)3:5
(C)5:4 (D)9:5

18 men can complete a project in 30 days and
16 women can complete the same project in
36 days. 15 men start working and after 9 days
they are replaced by 18 women. In how many
days will 18 women complete the remaining
work?

18 =R W Ui @i 30 T o "o s W € U9 16
et 3H YIS ® 36 fa7 § THE W HEHA 115
fe Y TR A & Wd 9 & Tverd 9% TH W 18
T T T o S § | 99 i w1 18 Higemd T

et o o i ?
(A) 20 (B) 30
(C) 26 (D) 28
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Solutions
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1m = 2B
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10x2x20 (16+4)20
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X =260
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7mx10 (14m+20w)D
100 600
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~ 600
D =15 days
4.(C) 1lm=2w =3B

8B

3.(D)

5.(C) 40 m = 60w = 80B
2m = 3w = 4B
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(A)

xx(1_+1 +5) = (10 % 5)
(Sc+sc+5jx 10 x5
— — = X
2 3 ‘ c
60 5
- — -5=
= X 11 11 days

-+ 28 men do 1 work in 15 days.

.. Time taken by 30 men

_ 15x28
30

-+ 15 women do the work in 24 days.

.. Time taken by 18 women

_ 15x24

- 18

= 14 days

=20 days

1

.. Required ratio = 1420

=20:14=10:7

Work done by 15 men in 9 days = W (let)
MlDl M2D2

W w,
18x30 15x9

=1 W,

18 x30xW,=15x9

15x9 1

18x30 4

>W,=

1 3
4 4
Again, 16 women complete the project in
36 days.
MlDl _ M2D2
W, W,

Remaining work = 1 -

16x36 18xD,
= 1 3

4

3
— x 16 x 36

:>18><D2=4

=27x%x16

_ 27x16
2 18

=D = 24 days
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